&=, SHAPESHIFT

»¥ TECHNOLOGIES

ShapeShell™-RC Facade Cladding

Installation
Guide B

1SO 9001




e 2400MM e

ShapeShell™-RC Standard Panel Size

---- 590mm ----

---- 590mm ----

--= 3000MM - - s

S 21010

More to Come



Standard ShapeShell™ Facade Panel Railing and Attachment:
Attachment System Features and Benefits

The ShapeShell™ Railing and Attachment System is engineered specifically for use with
the Standard ShapeShell™ RC Facade Panel Range. Designed to simplify installation,
ensure structural integrity, and enhance the visual appeal of facades, this package
integrates precision-engineered components and high-quality materials to meet the
demands of contemporary architectural projects. (Include this system is designed to
simplify installation and panel handling, attachment system helps to ensure safe &
simple handling of the panels.

* Easy Adjustment: The system offers up to +20mm of on-site adjustability,
allowing for easy alignment to accommodate building tolerances. This flexibility
helps minimise installation errors and ensures consistent alignment across large
facade installations.

* Durability and Corrosion Resistance: Manufactured from aluminium and
Grade 316 (SS316) stainless steel, the attachments are highly corrosion-resistant,
providing superior longevity even in challenging environments, such as coastal
regions or high-pollution zones. This durability ensures a longer lifespan for the
facade system, minimising ongoing maintenance requirements.

* Effective Load Transfer: The combination of deadload and windload brackets is
specifically engineered to manage both vertical and lateral forces, ensuring
consistent performance in varying conditions. Unlike typical NV3 bracket
systems, which are not designed for the specific demands of GRC panels, this
robust system is purpose-built to effectively support their weight, delivering
dependable performance throughout the building's lifecycle.

* Ease of Installation: The adjustment capabilities and straightforward hook-on
method allow for safe and efficient installation, significantly reducing both time
and complexity.

* Concealed Fixings: Integral to the system, concealed fixings minimise the visual
impact of structural components. This ensures the fagade’s architectural design
remains the focal point, creating uninterrupted and seamless surfaces.



Panel Installation Guideline

STEP 1: Position & Install Wall Brackets

STEP 1. SETOUT BRACKETS AND
SECURE TO WALL STRUCTURE

M12 55316 WALL ANCHOR

SSRCP-ER1 (SERRATED BRACKET)
SSRCP-WAL (SERRATED WASHER)
M12 55316 NUT

STEP 2:: Install Horizontal Rails

M12 55316 BOLT AND WASHER —— t—= STEP 2. INSTALL RAILS

SSRCP-RA1 (RAIL) -«

S5RCP-WA1 (SERRATED WASHER)
M12 55316 NUT

16



STEP 3: Prepare Panel Brackets

SLOTTED ADJUSTMENT

55316 LOCKING TEK SCREW ONCE
FINAL POSITION OF BRACKET IS SET

M12 §5316 FIXINGS —

SSRCP-BR2 & BR3
(DEADLOAD HOOK BRACKET)

55316 LOCKING TEK SCREW ONCE
FINAL POSITION OF BRACKET IS SET

M12 55316 FIXINGS ——

SSRCP-BR4 (WINDLOAD HOOK BRACKET)

STEP 4a: Lifting The Panels

@14mm LIFTING HOL

@14mm LIFTING HOLI

SET FINAL POSITION OF BRACKET
WHILE LIFTING INTO POSITION

g

s &
3 /i/'
/1

D

— D

r -

5
ot

/

4

e o oo

f
DEADLOAD |
BRACKETS

WINDLOAD
" BRACKETS _\

!
f
]

1
L}

L]

\1\§_0.Df

! \

S J." 15 LIFTING ANGLE MAX \.‘ r 9
/ \

3

\
i

17



18

STEP 4b: Safe Rotation & Panel Handling Guidelines

PROTECT EDGE
DURING ROTATION

PROTECT EDGE /
DURING ROTATION

STEP 5: Install Panels into Rails

Panel Lifted into position. Tek screws are used to fix hook brackets to Aluminium

panel rails after final adjustment. They can be installed before lifting the panel OR
after test fitting panels on rails.




STEP 6: Adjust heights and lock off panels

After Final Adjustment of panel, pack underneath adjustment Panel is then fixed into position using Tek screws.
angle using provided aluminium horseshoe packers.

FINISHED INSTALLATION

19



100

SDE00 SCREW TO FIX HOOK BRACKET TO
PANEL RAIL AFTER FINAL ADJUSTMENT

1D 88 316 BOLTED COMNECTIO
SDE00 SCREW TO FIX HOOK BRACKET TO

COMNECTION
PANEL RAL AFTER FINAL ADJUSTMENT MID S5 316 ADJUSTIMENT BOLT,
TIGHTEMLODS

EN BOLT+/- Smm
TaFIX FOR FINAL PANEL ADJUSTMENT
ANGLE TO RAIL AFTER FINAL OMCE PANEL HAS BEEN PLACED

ON AL,
ARILETEMST PAGK USING ALUMINIIM HORSHOE
PACKERS

HORSESHOE PACKER

055 SPRING WASHER

BOS00 SCREW TO FIX HOOK BRACKET T
PANEL RAIL AFTER FINAL ADRISTMENT
M10 33 318 BOLTED CONNECTICH

SOS00 SCREW T0 FIX HOOK BRACKET TO
PANEL RAIL AFTER FINAL ADJUSTMENT
M10 S8 316 BOLTED CONNECTIO

f——M10 58 SPRING WASHER

TieAnE ALUMINILIM RAIL ANGLE
@14 LFTING HOLE

@12 ADDIMONAL BOLT HOLE LOGATIONS
BRACKET SETOUT

ADJUST HOOK BRACKET LOCATION
Genm WINDLCAD HOOK BRACKET

35 41

41

@12 ADDITIONAL BOLT
LOCATI

HOLE

FOR HOOK BRACKETS
REFER RAIL AND
BRACKET SETOUT
DRAWNG,

ADJUST HOOK
BRACKET LOCATION
TOSUIT

100 55 316
BOLT TYF
SDS00 SCREW T Fix HOOK BRACKET TO
PANEL RAIL AFTER FINAL ADJUSTMENT
ROUND WASHER
SSNLTYP
M 6412 S5316 110 55 318 BOLTED CONNECTIO
BOLT TYR SDS00 SCREW TO FIX HOOK BRACKET TO
PANEL RAL AFTER FINAL ADJUSTMENT
TOFX
ANGLE TO RAL AFTER FINAL
ADJUSTEMNT RAIL,
BACK LISING ALUMINILIM HORSHOE
150 VIEW \_"“‘-""‘E"5
N HORSESHOE PACKER
055 SPRING WASHER
D500 SCREW T FIX HOOK BRACKET T0
PANEL RAIL AFTER FINAL ADRISTMENT
BovEW 1410 55 316 BOLTED CONNECTIO!
NTS
SDS00 SCREW 0 FIX HOOK BRACKET T0
FANEL RAIL AFTER FINAL ADULISTMENT
W10 S5 316 BOLTED CONNECTIO
SO VIEW
150 VEW =
NS, B~ M10 55 SPRING WASHER
HACK VIEW
SOALE-1-20
[—— i
[N [ — TOP VIEW M
v | SCALE:1-20
# 1 Tl ALUMINILIM RAIL ANGLE
:L @14 LETING HOLE
A LFTHEINE . 12 ADDITIONAL BOLT HOLE LOGATIONS
A2mm DEADLOAD 4

BRACKET SETOUT

NT ANGLE r ADJUST HOOK BRACKET LOCATION
/—msﬂis}ﬂ:ﬁ nusg':w PACKER. | ‘- B WINDLOAD HOOK BRACKET

35 41

= PANEL TYPE 2

41

@12 ADDITIONAL BOLT
LOCATIONS

CEMERAL MFIAMGEMENT

HOLE

FOR HOOK BRACKETS
REFER RAIL AND
BRACKET SETOUT
DRAWNG,

ADJUST HOOK
BRACKET LOCATION
TOSUIT




1%

SDE00 SCREW TO FIX HOOK BRACKET TO

PANEL RAIL AFTER FINAL ADJUSTMENT
10 55 316 BOLTED
CONNECTION

W10 53 316 BOLTED CONNECTION——" ' E&E.SECS}TDTLTED
ME ROUND WASHER
EBMETE PANEL RAL AFTER PINAL ADJUSTHENT DS S AIUSTIENT HOLT,
M Bx12 55 316 TIGHTENLOOSEN BOLT+i- Sirem
]’ A ? FOR FINAL PANEL ADLIUSTMENT
SO0 SCREW Ta) Fix ADJUSTMENT-
PEEURE ANGLE TO RAL AFTER FINAL ONCE PANEL HAS BEEN PLACED
ADJUSTEMNT 0N RAIL.
FAGHK USING ALUMINIIM HORSHOE

150 VIEW \\ PRI
(G

~HORSESHOE PACKER

W10 55 SPRING WASHER

50500 SCREW TO FIX HOOK BRACKET To-
PANEL RAIL AFTER FINAL ADRISTMENT

BOVEW 110 55 316 BOLTED CONNECTION —
TS
50500 SCREW T0 FIX HOOK BRACKET T0-
PANEL RAIL AFTER FINAL AGJUSTHENT
M10 S5 316 BOLTED CONNECTION—
180 VIEW
NTS e
56
SO VIEW
SIE VIEW BACK VIEW s
S 15a ksl F——— K0 55 SPRING WASHER
o -
| 1190
TOP VIEW
SCALE:1:20 6 VW
NTE
—f———————70aDxH ALUMINILM RAIL ANGILE
@M LETINGHOLE
1 <7912 ADDMONAL BOLT HOLE LOGATIONS
R ol - FOR HOOK BRACKETS P— iy
= ; REFER RAL AND BRACKET SETOUT - M
(| | Cawne eV BESCAPFIGN I
[ ADJLIST HOOK BRACKET LOGATION,
~~—HORSESHOE ALUMIIUM PACKER = Gmm WINDLOAD HOOK BRACKET
" Bins8 ALUMINILIV RAL ANGLE —I.
"'!' [ PANEL TYPE 3 " 10F1
N J— " AS SHOWN @ A3
— =] ].m. ;
oLz e il
BRACKET LOCATION s L
TO ST SOALE-1 ;30

T e 1 e | e
. e o St e i STk ]

MiladD 55 318 SDS00 SCREW T Fix HOOK BRACKET TO
BOLTTYP PANEL RAIL AFTER FINAL ADJUSTMENT
M ROUND WASHER M1 55 316 BOLTED CONNECTION—"
SD800 SCREW TO FIX HOOK BRACKET TO-—
SSETYP PANEL RAL AFTER FINAL ADJUSTMENT e,
Méxt2 55318 ? FOR FINAL PANEL ADJUSTMENT
™ SO0 SCREW T FIX ADJUSTMENT-
BOLTTYR ANGLE TO RAL AFTER FINAL ONCE PANEL HAS BEEN FLACED
ARILETEMST PACK USING ALUMINIIM HORSHOE
150 VIEW \\ PRI
N ~HORSESHOE PACKER
W10 S5 SPRING WASHER
50500 SCREW TO FIX HOOK BRAGKET TO-
PANEL RAIL AFTER FINAL ADRISTMENT
110 55 316 BOLTED CONNECTION —
50500 SCREW T0 FIX HOOK BRACKET T0-
! PANEL RAIL AFTER FINAL ADJUSTMENT
Lz M10 S5 316 BOLTED CONNECTION—
._\.53
: 180 VIEW 9
i SF NTS
w40
SO VIEW
SIE VIEW BACK VIEW s
S 15a LT B M10 55 SPRING WASHER
®
L mm ]
TOP VIEW
SCALE:1:20 6 VEW
NTE
————————70aDxH ALUMINILM RAIL ANGILE
——@14 LETING HOLE
v <7912 ADDMONAL BOLT HOLE LOGATIONS
R - FOR HOOK BRACKETS P— iy
= ; REFER RAL AND BRACKET SETOUT - M
1 | Cawne eV BESCAPFIGN I
T ADJLIST HOOK BRACKET LOGATION,
-—I Gmm WINDLOAD HOOK BRACKET
‘*!: PANEL TYPE 4 1 OF
N J— " AS SHOWN @ A3
@ = [
oLz e il
BRACKET LOCATION s L
TO ST SOALE-1 ;30

ARUREMENTE)




Contact Us

@ Get in touch today to explore Experienced Global Team,

partnership opportunities. Reliable Partner Assurance

ShapeShift Technologies Pty Ltd P
AUSTRALIA ASIA USA EUROPE &= SHAPESHIFT @ ShapeShell
https://shapeshift.tech/




	ShapeShell™ RC Façade Cladding Installation Guide
	ShapeShell™-RC Pillar & Plinth Wall Panel

